CBoaHas Tabrmua KoMnbiTEPHOro o6opynoBaHus Ha 25.12.2013r.
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1 1'+1 1 1 1
2 1'+1 1 1 1
3 1+1 1 1 1 1
4 1+1 1 1 28
6 1 1 1
7 1 1 1 1 1 24
9 4 1 1 1 1 1 1
10 1 1 1 1 1 1 1
11 1 1 1 1 1
12 1 1 1 1
13 1 1 1
14 1 1 1 1* 1
15 2 1 1 1 1 1 1
16 13+1 1 1 1 2 1
17 14 1 1 1 1 1 1
18 2 1 1 1 1 1
19 1 1 1 1 1
20 1 1 1 1 1 1 1
21 1 1 1 1 1
Metog. KabuHet 4+1' 2 1+1* 2 4
Opranunsatopckad | 2+1"+1' 1 1 1 1 2
Bubnmoteka 4 1 2 2 1 2 2
[MpuemHas 1+1' 1
OvpekTop 1
AXH 1 1 1 1
My3sen 1 1 1 1 1
ABTOKNacc 1 1 1 1 1
MacTepckas 1
LLiBenHas 1
WHTepHaTt 2
Jloronen 1 1
Byrantepus 4 1 2
[eTt. cag 2' 1 1 1
CepBepHasi 2+1'+1" 1 2 1 1 2+ 1% 1
Wtoro: 86 24 19 22 18 23 6 22 53




MpumeyaHue: ' - HOYTOYK, * - UBETHOM CTPYWMHBIRA, " - HETOYK, ** - LIBETHOW Na3epHbIN



